**Service Provider:** Longfield Academy Cashel

Programme Year: 2023/2024

Status: Active

## **Fee Options**

Fee Type Name	Age Range	ELC/SAC	ECCE Available ?	Session Start Time	Session Finish Time	Incorporated Services?	Choose Incorporated Services	Additional Information	Hrs per Day	Days per Week	Hrs per Week	Full Fee	Fee (including ECCE - 3 Hours)	Effective From	Effective To
Preschoo I Rooms- 8.00am- 12.00pm	2y 6m - 6y	ELC	Yes	08:00	12:00	No		8.00am until 12.00pm for 5 days, 38 weeks of the year (term time) in the preschool rooms.	4	5	20	110	45.5	21/08/2023	30/06/202 4
Preschoo I Rooms- 7.30am- 12.00pm	2y 6m - 6y	ELC	Yes	07:30	12:00	No		7.30am until 12.00pm for 5 days, 38 weeks of the year (term time) in the preschool rooms.	4.5	5	22.5	125	60.5	21/08/2023	30/06/202 4
Preschoo I Rooms- Full Days	2y 6m - 6y	ELC	Yes	07:30	18:00	No		3 full days for preschool children, 38 weeks of the year.	12.5	3	37.5	149	84.5	21/08/2023	
Junior Toddler/ Senior Toddler Room - Extra Full day	1y - 3y 7m	ELC	No	07:30	18:00	No		An additional charge of €45.00 for an extra day on top of the days that your child is registered with the service for.	10.5	1	10.5	45		21/08/2023	25/08/202 4

							An extra day must be							
							approved by management .							
Preschoo I Non- Term Full Day	2y 6m - 6y	ELC	No	07:30	18:00	No	4 Full days during preschool non term weeks (14 weeks).	10.5	4	42	160		21/08/2023	
Junior Toddler/ Senior Toddler Room Full Day	1y - 3y 7m	ELC	No	07:30	18:00	No	5 Full days in our Junior and Senior Toddler rooms for 52 weeks of the year.	10.5	5	52.5	200		21/08/2023	25/08/202 4
Junior Toddler/ Senior Toddler Room Full Day	1y - 3y 7m	ELC	No	07:30	18:00	No	3 Full days in our Junior and Senior Toddler rooms for 52 weeks of the year.	10.5	3	31.5	125		21/08/2023	25/08/202 4
Junior Toddler/ Senior Toddler Room Full Day	1y - 3y 7m	ELC	No	07:30	18:00	No	2 Full days in our Junior and Senior Toddler rooms for 52 weeks of the year.	10.5	2	21	85		21/08/2023	25/08/202 4
Preschoo I Rooms- 8.00am- 1.00pm	2y 6m - 6y	ELC	Yes	08:00	13:00	No	8.00am until 1.00pm for 5 days, 38 weeks of the year (term time) in the preschool rooms.	5	5	25	140	75.5	21/08/2023	30/06/202
Preschoo I Rooms- 8.00am- 2.00pm	2y 6m - 6y	ELC	Yes	08:00	14:00	No	8.00am until 2.00pm for 5 days, 38 weeks of the year (term time) in the	6	5	30	185	120.5	21/08/2023	30/06/202 4

							preschool							
							rooms.							
Preschoo	2y 6m -	ELC	Yes	09:00	13:00	No	9.00am until	4	5	20	110	45.5	21/08/2023	30/06/202
I Rooms-	6у						1.00pm for 5							4
9.00-							days, 38							
1.00pm							weeks of the							
							year (term							
							time) in the							
							preschool							
							rooms.							
Preschoo	2y 6m -	ELC	Yes	09:00	14:00	No	9.00am until	5	5	25	155	90.5	21/08/2023	30/06/202
l Rooms-	6у						2.00pm for 5							4
9.00am-							days, 38							
2.00pm							weeks of the							
							year (term							
							time) in the							
							preschool							
							rooms.							
Preschoo	2y 6m -	ELC	No	07:30	18:00	No	An additional	10.5	1	10.5	38.5		21/08/2023	30/06/202
l- Extra	6y						charge of						4	
Full Day							€38.50 for an							
•							extra day on							
							top of the							
							days that							
							your child is							
							registered							
							for.							
Preschoo	2y 6m -	ELC	No	07:30	18:00	No	5 Full days	10.5	5	52.5	195		21/08/2023	30/06/202
l Non-	6y						during						' '	4
Term Full	'						preschool							
Day							non term							
.,							weeks (14							
							weeks).							
Preschoo	2y 6m -	ELC	No	07:30	18:00	No	3 Full days	10.5	3	31.5	120		21/08/2023	25/08/202
l Non-	6y			07.00	20.00		during	10.5		02.0			22,00,2020	4
Term Full	",						preschool							
Day							non term							
Duy							weeks (14							
							weeks).							
Preschoo	2y 6m -	ELC	No	07:30	18:00	No	2 Full days	10.5	2	21	80	1	21/08/2023	25/08/202
l Non-	6y		"	07.50	10.00		during	10.5	-				21,00,2023	4
Term Full	''						preschool							
Day							non term							
Duy							weeks (14							
							weeks).							
Drocchoo	2v 6m	ELC	No	07:20	10.00	No		10 5	1	10.5	40	+	21/08/2023	25/00/202
Preschoo	2y 6m -	ELC	INO	07:30	18:00	INU	1 Full day	10.5	1	10.5	40		21/08/2023	25/08/202
l Non-	6у	1					during		1					4

Term Full							preschool							
Day							non term							
							weeks (14							
							weeks).							
Preschoo	2y 6m -	ELC	No	09:00	13:00	No	9.00am until	4	5	20	110		21/08/2023	25/08/202
l Non-	6y						1.00pm for 5							4
Term							days per							
9.00-							week, during							
1.00							preschool							
							non -term							
							weeks (14							
							weeks).							
Preschoo	2y 6m -	ELC	No	09:00	12:00	No	Preschool	3	5	15	80		21/08/2023	30/06/202
I Session	6y						session for 5							4
5 days							days per							
per week							week for							
							children who							
							are not							
							eligible for							
							ECCE.							
Preschoo	2y 6m -	ELC	Yes	07:30	18:00	No	2 Full days,	15	2	30	126	61.5	21/08/2023	
I Rooms-	6y						preschool							
Full Days							children for							
							38 weeks of							
							the year.							
ECCE	2y 8m -	ELC	Yes	09:00	12:00	No	ECCE only	3	5	15	0	0	04/09/2023	25/08/202
only	6y						hours.							4

## **Fee Extras**

Туре	Extras	Amount	Description	Additional Details/Conditions	Effective From	Effective To
Deposit		200	Junior and Senior Toddler Rooms Deposit		21/08/2023	28/07/2024
Deposit		50	Preschool hours only deposit.	Refundable deposit for children attending preschool	21/08/2023	25/08/2024
				hours only.		
Optional Extra	One Paid	50	End of year preschool trip.	Senior preschool children will be given the option to	21/08/2023	30/06/2024
	Preschool			attend a preschool trip before the end of the preschool		
	Trip			year. Average trip is approximately €30.00.	21/08/2023 21/08/2023 21/08/2023	
N/A		8	Introductory Hours	First two weeks charged at €8.00 per hour until it	04/09/2023	25/08/2024
				reaches full day rate.		
Deposit		100	Preschool with part or full day care	Deposit for children attending preschool who are	04/09/2023	25/08/2024
				availing of part or full day care		